EARAROBREBRT —5 XN—ZXBISH—F

2024538158 (&) 260REE4H

I | EPAEBREOD#EE 10 USRI E IR

[#&%&] 1 7% :500,000 )  23%&:175,000”  337:100,000 @  43%&:75000 M 5 3&:50,000

B RS RS M MHE BF (F8) |94L (BF) | @Bl | E3F |SiEH | AR | #E | A6 (R / B / £EWS

1 BN 3| ZYALNO—X 3| B 1'27_5 102 [36.9] — | 1 (5242) g;’;ﬁ;ﬂx (BER)
R:AZASKRZ—9 B:T4Ah~ KI5

2/8|11| EDLTZLIY #3 BN T A B e bt =
R:AR—=KT 7)Y B:VILN=DA VR JO0—-U—J7—L

N - BEEPFET. ® 3| ERAR % S e B A (el i L IR
RivadrVISY BRANU—RTAF— BE &

4l7lo|7—070574—2 (T (1591./02) 23 389 - | 3 (ffﬁ) %@ggz €2
RTEAUR B:RZAYFILA it

507110 ZARDAI— #o3 | FEER 5(91.)2 87 382 - | 9 (4+615; E%ggx (@EE)
RiFA—RITAT 1 B:7—RAVA(F—RN J0-U—T7—L1A

656 \TTIV2VAF w3 | = e | 7 B - [ | e [pppgeem
Rib—EYS— BULYTYRAI FAFPUARTST

718|112 7T1RIS 3 | AARE 24 44 388 - | 10 (38?:1) Efﬁ?‘; fﬁ@
RYRITSIY B:IAYH I5UFTr—I

8 4| T4V I/ TvhY H# 3 %%?EE (*319/.25) 5-10  [38.6| - 5 (4+517) 2%%% (CE =)
RiZF/NYTa— BEYI AT (-1 FAVEYRT7—L

9 =SV 3 &zz_ﬁgﬁ 1:(04(3.4 36 (398 - | 7 (4_1(1)8) Eg% (BER)
RiFYA—0 B:EVYIARIAN J0-U—J7—L

0111274 —E21—2 3 ;‘Z%Ek 1:?41).2 6-8 02| - | 6 4:;)3 ggﬁg& (BER)
RE—ZY BTISAT I7—IVIVIES

- > — 3 | WER 1:01.8 1212 [39.4| — | 12 | 342 |FTEEE (BEHE)

1"y 7 /'j_:_jf “7\'_‘ o 5.0 ) Q) | FEoh—XI—HL—v3> @)
R:7ROTVIv+— BiLTJ RS

1205]5 | 2=~NLFUT =/ 30| R (11012/2(; 1111397 - | M 11(1))7 ﬁﬁgﬁ (BER)
RiM—TEIN B:RAARS KIFEAIS

® 1—F—iEBIE

13=zr=

Adl=5r=

330—3— [11,9,2,12,4,1,6,10,8,3,5,7

4J—F— 11,3.9.12,8,2,10,1,6,4,5.7

@ IRE

& s 3 120 | | 94K 3-1 150/ | | # & 3-8 190F9 | | =8 3-8-11 790M

& B 3 100M4 3-8 2708 | | 5 &= 3-1 200/ | | 3:=E 3-11-8 1,490M

il 110/ 8-11 560/ | | 5 & 3-1 290H
8 160M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




